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SI.No. Total No. of Pages : 8
VI Semester B.Com. Examination, September 2020
‘ (Scheme : RS 16-17)
COMMERCE
Quantitative Techniques - 11

Time : 3 Hours Max. Marks : 80
Instruction : Answer all parts.
) onnene ww3oX.

PART - A
oo - &

Answer any Four questions. Each question carries 10 marks. [4 X 10 = 40]

IRPYRTTE 4 BIROK wv30r. T3 TJR 10 woIRh.
Q1) IfU={0,1,2,3,4,5,6,7,8,9} andaday A={0,2,3,6,9}B={0,1,3,5,7}
C=1{3,4,5,6,7} ¢33 find
) AN BUC)=(ANB)U(ANC)
i) (A-B) N (A-C)=A-(BUC)
i) (ANB)=A"UB'
iv) (B-A)u (BNC)

v) B'-(AUC) 30@&B000.
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02) The monthly income of 2,000 employees are normally distributed around a
mean of 5,000 with a standard deviation of ¥500. Find the No. of employees
whose monthly income would be;

i) Between 2,000 and 3,000
ii) Between 33,000 and 34,000
iii) More than ¥4,000 (Normal distribution table is given)

2,000 F°800 ST SO T[T DICHDYTD XoexRO Tw. 5,000
Tone TRREIT NBOIT de. 500 SADIE. FP0RE TPAT STROD TBRODTLH
P800 "o, oD, FOBLBOND. ‘

) dw. 2,000 Tone dw. 3,000
i) Gw. 3,000 TR Sw. 4,000

i) Twe. 4,000 303 BV,

03) How many three (3) digit numbers can be formed from the digits 1, 2, 3, 4, 5
and 6 without repeating any digit? Also find

i)  How many of them are odd numbers.
ii) How many of them are less than 500.
ii) How many of them are more than 200.

iv) How many of them are exactly divisible by 5?
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1, 2,3 4,5 3R 6 Q0w OINYOT RTD @oaﬁedwv @a‘% ?doajéwmd
RPBLBITONTEY O3HT3e OO TVTEIFROITNLD WITBIDPHOY.
23R

) aRNIQY o), B33 F0BCIPNHIHT?
i) RNIQ o, 500 303 IR VWIR?
i) }INTY ST, 200 %os 2308 QUBR?

V) QNEY oF Mo 5 008 JRIFoIRA FRADINHIS.

Q4) Fit a Poisson distribution to the following data and calculate the theoretical
frequencies. '

31 8UNS BE08E ARCNRTT VICHODL, VUAY T ToFTS DFOHCD
oI, BOmERWD.

No. of defectives: 0 1 2 3 4

3TN ﬁoaﬁé

No. of Items 109 65 22 3 1

TTRPFNY xoﬁﬁ

[e‘o'“ = 0.5434] Calculate mean and variance of the above distribution.

RooRD k) YIS (SOOHI')oHR, BeIT HITHR FoREAO.

Q5) Two dice are thrown at a time. Write a sample space aﬁd find the probability
that;

i)  Both the dice show the same number.
ii) The total on the dice is more than 7.
iiiy The first dice shows an even number.
iv) The sum of the numbers obtained is 6.

v) The sum of the numbers is less than 9.
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Inle1e ) wﬂdﬁfé&b DFPOTY DRCDNTVONI. 20T A0 e ~e Eda wdcso
g gSNAIJnen ~oa§aﬁ:)eo$a:§o$3§:: FOTWILBOWD.

) Q0RR INBRYY wode FoBOHTW, SeDITN.

i) oORR INBERYYST 2., B 7 §03 2RO
i) SeBOID INAE TR0, PeOWIT.

iv) 20RR IJNBERY KoBeH BeZ 6 vwen.

V) «O0RR Indne FosSod Bed 9 303 RRDoSTTRN.

06) A survey of 750 families has been conducted to know the power used for hot
water for bathing purpose. The survey revealed that 324 families used A typé
power, 285 families used B type power and 315 families used C type power
of them, 75 families used both A & B type, 88 used B and C type and 94 used
both A & C type power. 50 families did not used any of these 3 powers.

Find out;
)  Number of families used all the three powers.
i) Number of families used only one of these. Show by Venn Diagram.

I3 emcgesf%n DAVOR IWT ROFPIT B30 wif 750 BdoRY
AW IEXRONB). 83 FWeBOHY 324 BEDOWNH A, 285 BedowWNW B,
315 sotoownisd C, PP 30RWORB. BTWIY 75 BEDOWNH AR
Bo&vddai.ra&, 88 milownwd BE.'.{::S?n Caddc&aﬁt m@_bp 94 BEDoWNY A
WZ) C oD, WFSFT. 50 BLD0NH 88 FRTY BNV, WIROTZT
goRBWORD. TTIB

) 8 DR IS aiirifniabﬂl WHRT BDEDOWNWD DT,

i) aRINYY 10T wOTRY, [PF WIS ﬁa&saoaarwm 0@ &BOND.
I3 IFoD oy &aema
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PART - B
AT Wl )
Answer an§ Four questions. Each question carries five marks. [4 x5 =20]

SPYTRECR 4 FBROR 3oL, T2 TR 5 o8,

Q7) A cricket team of 11 players is to be selected from 2 groups of 9 and 7

respectively. In how many ways can the selection be made if the group of 9
shall contribute at least 6 players?

9 DY) 7 wT SUMTOHT QTR 1HOLHAOT 11 %IV 2,000 §86* FoBBIY,
803, SBeD. ¢ o33P 9 BIVWT MHOXAOT INF T 6 BT
QANB0Z DT WroHY IoBI, Hod, SRBPEI?

Q8) Team - B has probability % of winning a match. If it plays 4 matches, find

the probability that it wins
1) 2 matches
i) Atleast one match (Binomial Distribution)

$umTS 303 - B ToOswy, RS Xopuleodd ¥, em Beodd. ¢
303 4 ToTRIRRTS B ~
) oSz Jognds, |

i) ¥R T Lom ToTHI, ALY RoPTACODIODY, FOBELBOWND.
(B;T000 HITER)

09) If 8P =6,720 &3, find ‘7’ TOB&BOWD.

QIOIfA={a,bc,d},B={c,d,e,f} and 3 C = {b,d,f, h} prove that

) A-(A-B)=AnB

i) AN(B-C)=(ANB)-(ANC) oo 3ocda.
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QINIf P(A)= % ,P®)= ¥, ©c8 if Aand 3y B are independent,
3803moNGS find P(AUB) and 2633 P(ANB) 8085680%00.

Q12)Explain any five probability sampling techniques.
OSRPTTWER VW ToFBVeoDI BRI S0ZRYY, DT[OA.

-2

Answer any 10 questions. Each question carries 2 marks. [10 x 2 = 20]

—

o3RPYmEEe 10 IFReR wv3dr. T3 JIR 2 wosnk.

Q13)a) What are the two methods of representing a set?

reanes), $ITAT 2 RPOINTOYR)?
b) If[n=720 &ngB, find "C, go@&ACND.

¢) WhatisaRandom experiment in the probability.
BOPHREODIONY THOBIT Todwen DOTTER?

d) Find the number of arrangement of the letters of the word
“ASSASSINATION” TTBQ &30RY, oD FBY BreRdWIBTOT
50RLAOND.

e) Write all possible subsets / power sets of set
A={n,p, q} 8 N0 JUY WINENYI), LTONO.
f) Whatis mutually exclusive events?

20BRROTD BATD JRAT TS 0TTeD?
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Write the properties of normal distribution.

mmaﬁ DITHED rbs'aogsaﬁ@m& 228000,
Write the values of "P, and "C, 3 BSob, ForELAND.

If Q, = 100 and &2 Q,=180 38 find mode of normal distribution.
TR, HICEORY BeeE BOmELROND.
Show by Venn diagram the union and difference of two sets.

T aﬁcxb =NAT00IT  ORRACDHT® magp Q0D iy déaaém’aiabd
30001,

Four coins are tossed simultaneously. What is the probability of getting
2 heads and 2 tails? https://www.uomonline.com

4 TRERNIR, 2R WNTRORD. 2 B DH) 2 B 20T XoFRVeoDI
ATT?
o

State two differences between permutation and combination.
BB D) SOWNE IBDAT STH JFANGTL, 2TWD.

If mean of a Poisson distribution is 9, find its standard deviation?
TROD" DIVBOD F0OFO 9, VWS 7V, OBWEF BeDODETT FOBHLBOND.

From 6 red and 4 blue balls, in how many ways 2 red and 2 blue balls
can be selected.

6 3oz TP 4 Jed BoRndY 2 Fom Tere 2 D BorBNTR,
AT, ATOTTY OB

In how many ways 6 family members can be seated in a Dinning Table of
6 chairs? '

2T, bedodY 6 ﬁaz&rﬁ@og 2,0TD NREIT e #n:g 6 =T DVEDOWT
ﬁdﬁéd: &@&im%uaam.
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Table Bl Areas under the Standard Normal Curve fromQtoz 4& -

21772
Z 0
0.0 .0000
0.1 .0398
02 .0793
03 .1179
04 .1554
0.5 .1915
0.6 .2258
0.7 .2580
0.8 .2881]
09 3159
1.0 .3413
1.1 .3643
1.2 .3849
1.3  .4032
1.4 4192
1.5 4332
1.6 .4452
1.7 .4554
1.8 .4641]
1.9 4713
20 4772
2.1 4821
22 4861
23 .4893
24 4918
25 .4938
26 4953
2.7 4965
2.8 4974
29 4981
3.0 .4987
3.1 .4990
32 4993
3.3 4995
34 4997
3.5 4998
3.6 4998

1

.0040
0438
0832
1217
1591
1950
2291
2612
2910
3186
3438
3665
3869
4049
4207
4345
4463
A564
4649
4719
4778
4826
4864
4896
4920
4940
4955
4966
4975
4982
4987
4991
4993
4995
4997
4998
4998

2
0080
0478
0871
1255
1628
1985
2324
2642
2939
3212
3461
3686
3888
4066
4222
4357
4474
4573
4656
4726
4783
4830
4868
4898
4922
4941
4956
4967
4976
4982
4987
4991
4994
4995
4997
4998
4999

3

0120
0517
.0910
1293
.1664
2019
.2357
2673
2967
3238
3485
3708
3907
4082
4236
4370
4484
4582
4664
4732
4788
4834
4871
4901
4925
4943
4957
4968
4977
4983
4988
4991
4994
4996
4997
4998
4999

4
0160
0557
.0948
1331
.1700
2054
2389
2704
2996
3264
3508
3729
3925
4099
4251
4382
4495
4591
4671
4738
4793
4838
4875
4904
4927
4945
4959
4969
4977
4984
4988
4992
4994
4996
4997
4998
4999
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0199
0596
.0987
1368
1736
2088
2422
2734
3023
3289
3531
3749
3944
4115
4265
4394
4505
4599
4678
4744
4798
4842
4878
4906
4929
4946
4960
4970
4978
4984
4989
4992
4994
4996
4997
4998
4999

6

.0239
.0636
1026
.1406
1772
2123
2454
2764
3051
3315
3554
3770
3962
4131
4279
4406
4515
4608
4686
4750
4803
4846
4881
4909
4931
4948
4961
4971
4979
4985
4989
4992
4994
4996
4497
4998
4999
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7

0279
0675
1064
1443
1808
2157
.2486
2794
3078
3340
3577
3790
3980
4147
4292
4418
4525
4616
4693
A756
4808
4850
4884
4911
4932
4949
4962
4972
4979
4985
4989
4992.
4995
4996
4997
4998
4999

8 9

.0319.0359
.0714.0753
.1103.1141
.1480.1517
.1844.1879
2190.2224
.2518.2549
.2823.2852
.3106.3133
.3365.3389
.3599.3621
.3810.3830
.3997.4015
4162.4177
4306.4319
4429.4441
4535.4545
4625.4633
.4699.4706
4761.4767
4812.4817
4854.4857
4887.4890
4913.4916
4934.4936
4951.4952
4963.4964
4973.4974
.4980.4981
.4986.4986
.4990.4990
4993.4993
4995 4995
4996.4997
4997.4998
4998.4998
4999.4999
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